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Nor and Neither can be used as negative additive adverbs without being a correlative pair.
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1. 2.

3. 4.

The buildup of a platelet mass at the site of vascular injury serves many functions.
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For the occurrence of translation equivalence between SL and TL, of situational futures, the

relevance of …….. relevant features, not ……. relevant features are important.

Linguistically- functionally functionally - linguistically 

Culturally- linguistically linguistically- culturally

7-

1. 2.

3. 4.

Cultural untranslatability occurs when a situational feature, …….. relevant for the SL text is

completely absent from the ….. of which the TL is a part.

Functionally- distinctive situational features

Linguistically- linguistic substance

Linguistically- distinctive situational features

Functionally- cultural

8-

1.

2.

3.

4.

In which of the following pairs, there is a converse relationship?

Dead-alive cold-warm

parent-child lily-flower
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1. 2.

3. 4.

E��� ������ ���F �� ���F �� 
! ��
0 �� 
�. ���
0 .� R�0�<F

	�H
 ��*�� �I���� ��� �0"2 �� �0"2 �01	$ ��' �� J4�� D"�5� -�I���� ������ ��<� %� ?���F� K��F�� -��� &�% � -��� �L;M

�'�;�

���;$ ���� �� %� &N�� �� �01	$ �0"2 �� �0"2 �01	$ %� ��� �*0� D"�5� -�I���� %� ?���F� � -��� O+�= ���;� ��)*� ��+��

��' 	/�� ���� %� �"01 �� � K%�;4 �� ��

%� �, -�	� �;������ -� �01	$ P���� ��6�� O1�� ���(N�� 	Q�4 �� ������ -�@1� �� ��	� �� �'�
 ?R !�0"2 �� �0"2 �01	$ %�

��' �� �QL� ����

%� �0"2 �� �0"2 �01	$!	/�� ���� %� �I�, 	S���� 	.��4 � ���� �� %� ����� 	.��4 ��� �� �� �� � ���@� �M�;$%� ��1� ��+��

��� P�;= ���= � ��%� �%��� 	T2�

10

'

7

8

9

-

.

.

.

.

$pq " # "�<8 Q%�# r�� ��" s�� �#�Z! # ��� .......	�Ht0S�.�� �0 u�!
0 "�����." �fv�# �� �� "�." cw�# �F �x�5

.��� ...... 	�Ht0 c<HHF ���� "�<��
y �� �zI���<y

���)��U��	V$�*;�U�4�1%�

�4�1%�U���*����*;�U���)��

11

'7

89

-

..

..

 1010/101019875  1392-93 نيمسال دوم   6 از 2  صفحه 

WWW.20FILE.ORG



��� ����� 	�
� ��
��� 
���� ���� :(�)��� �
��

كارشناسي و كارشناسي ناپيوسته

عنــوان درس

رشته تحصيلي/كد درس

سري سوال زمان آزمون (دقيقه) : تستيتعداد سوالات : تستي تشريحيتشريحي

�� 
! "#�# $
%�,�� 
! "#� # $
%�

'(� )*+* ** :::

:

:

: :

 �,��-�� ���. �� 
/0 '1'1*23 �,��-�� ������# ���. , 4 '1'1''2�,��-�� ���. ".
05 , 4 '112*36

Considering figurative meaning, what is the translation of the following expression in Farsi?

“As graceful as a Swam”
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1. 2.

3. 4.
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“One of the biggest tasks will be to control the spread of Malaria”
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 Boys are seldom trained to follow their father’s occupation.
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The teacher explained the problem to the students.
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The value of practice seems to be influenced by several important factors.
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The ten O’clock news says that there is going to be a bad storm. 
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Which language varieties are of special significance in establishing translation equivalence?

Mode, register and temporal dialects Idiolect and social varieties

Geographical and temporal dialects Style, register and social varieties

19-

1. 2.

3. 4.
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Mines and Metals Ministry’s Deputy of Minerals and Production Affairs.
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Choose the best translation.

During a war of attrition, the Tanks crushed cars and burst through barriers.
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1.

2.

3.

4.
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Gradually a child learns what is expected of him as a member of the society in which he lives.
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1.

2.

3.

4.

It is hard to believe that Grass flowers should be considered flowers at all. They would not make

an acceptable corsage.

���� �0� ��*R$ �+�;= ���= �( ���� �I�, .�	0' �( `.� �% �F"4 -�I"( ����� �*R�
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���2 �0� ��%�  �I1�$ ���= �( ���� �I�, .���,%�0R� �( ����  �F"4 -�I"( �2 ��� �5� W%��� `2

���� �0� ��*R$ �I1�$  ���= �( ���� �I�, .��� %��'� `2 �F"4 -�I"( ��	0' �(

24-

1.

2.

3.

4.

But marble busts must have cost him plenty

�'�� &�' ��0$ ��	( 
��	� �� �0)V� ����

�'�� ��'��	� ���@� %��)� 
��	� ���� -	�	� ��$ ?�� -�� �0)V� X�0���

��� ��'��	� %� -���� ���@� �� -�	� -	�	� ��$ ?�� -�� �0)V� X�0���

�'�� &�' ��0$ ��	( 
��	� ���� -	�	� ��$ ?�� -�� �0)V� ���
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1.

2.

3.

4.

The pigs, who were manifestly cleverer than the other animals, should decide all questions of farm

policy, though their decisions had to be ratified by a majority vote.

�*��� ��1� �� .���	2 �� -	�( ?�0Q$ �% �4%@� ����� �f�)� �0� ���� ����� 	$ W�� �� K������ 	��� �� �%�*', %�B� �2 �I2�� ���
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����� 	$ W�� �� K������ 	��� �� �%�*', %�B� �2 �I2�� ��� !���% �� ��	T2� O��Q$ �� ��)��� �� �I�, K�0�0Q$ �*��� ��1� ��

���6	( ��  ?�0Q$ ����� �4%@� �f�)� �0� �%�� %� ����

�  	(� !���	2 �� -	�( ?�0Q$ �4%@� ����� �f�)� �0� �%�� %� ���� ����� 	$ W�� �� K������ 	��� �� �%�*', �2 �I2��

�' �� O��Q$ ��)��� �� ��	T2� -�%  A��$ �I�, K�0�0Q$ 
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1.

2.

3.

4.
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 Which of the following varieties is an example of “ idiolect”?

Journalistic text Queen’s English

Slang A person Stammering

27-

1. 2.

3. 4.

.<�HF \�O/�� �� ��:% 	�� $��t0 
�. 	�� �H�pf s�� .�

 U��	2 %�2do work downU��%�� ����get knocked down

 U��� 	B4to strike perfumeU��	2 _�Q�4�do strike
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